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1 =
(1) ®EAZEE
(2{K] [3 5mkim] [35~595] [6 OmLLL]
H%E (M) | HEIE%x | A% (F) HEE (F) | H8B%* | A% (F) H%E (M) | HEB%x | A%E () HZE (M) | 8B %* | A% (F)
A B (AXB) A B (AxB) A B (AxXxB) A B (AxB)
&/IMiE 14, 500 17.6 255, 200 =/IME 9,530 17.6 167,728 =/IME 14, 500 17.6 255, 200 =/IME 9,961 17.6 175, 314
&KXIE 38, 000 17.6 668, 800 mA(E 15,131 17.6 266, 306 =A{E 38, 000 17.6 668, 800 &XIE 16, 200 17.6 285,120
FiE 21, 480 17.6 378, 039 B 12, 462 17.6 219, 322 F{E 21, 480 17.6 378,039 FH{E 13, 081 17.6 230, 217
R B 17,928 17.6 315, 524 hR{E 12,593 17.6 221,628 B 17,928 17.6 315, 524 th B 13, 081 17.6 230, 217
=AEfE — 17.6 — RIR(E — 17.6 — =4R(E — 17.6 — AAE — 17.6 —
BAY 10 A 4 BAY 10 FAK 2
* HEBAKE, BER BAFHHAZ (SMXE10A7) DE1XRITKS,
(2 BEF@EE
(2{K] [3 5mKim] [35~595&] [6 OmLLL]
H%E (M) | HEIB%x | A% (F) HEZE (F) | H8B%x | A%E (F) A% (M) | H#B%* | A%E () HZE (F) | 8B %* | A% (F)
A B (AXB) A B (AxB) A B (AxB) A B (AxB)
&/ME 1,408 17.6 130, 381 w=/IME — 17.6 — &/ME 1,408 17.6 130, 381 =/IME 1,408 17.6 130, 381
RKXIE 13, 250 17.6 233, 200 =ABE — 17.6 — &KAE 10,370 17.6 182, 512 =KXE 13, 250 17.6 233, 200
FiE 9,099 17.6 160, 146 B — 17.6 — F{E 8,318 17.6 146, 400 F{E 9,192 17.6 161,773
R B 8,104 17.6 142, 630 th R fiE — 17.6 — R B 1,840 17.6 137,984 th B 7,956 17.6 140, 026
=AEfE — 17.6 — RIR(E — 17.6 — =4R(E — 17.6 — AAE — 17.6 —
BAY 9 AR — BAY 5 FAK 6
* HEBAKE, BER BAFHHHAZ (SMXE10A7) DE1XRITKS,
2 iK%
(1) ®EAFEE
(£{K] [3 5mkim) [35~595] [6 OmLLL]
H%E (M) | HEIBE%x | A% (F) HZE (F) | 8 B%x | A%E () H%E (M) | HEB%* | A%E () HZE (F) | w8 B%* | A% (F)
A B (AxXB) A B (AXB) A B (AXB) A B (AxB)
&/ME 9,530 17.6 167,728 =/IME 9,530 17.6 167, 728 &/MEB 10, 500 17.6 184, 800 =/IME 9,961 17.6 175, 314
RKAE 20, 000 17.6 352, 000 mAE 14,098 17.6 248, 125 =RAE 20, 000 17.6 352, 000 =KXE 16, 200 17.6 285, 120
TiYiE 13,712 17.6 241, 336 EH{E 11,970 17.6 210,672 EHE 14, 496 17.6 255,123 F{E 13, 081 17.6 230, 217
R {E 14,274 17.6 251,214 h i 12,126 17.6 213,418 =P 3 [l 14,475 17.6 254, 751 R fE 13, 081 17.6 230, 217
4B — 17.6 — R=IE(E — 17.6 — =HE(E — 17.6 — =AEE — 17.6 —
BAY 10 FAH 4 BAY 10 FAK 2

* HEAHKIE, JBER

BRFHANAE (SHMTFE10AD) DEI1RIZKD,




2) BEFH@E

[£1K] [ 3 5 ki) [35~5 9] [6 ORELLL]
A% (M) | HEB%x | A% (M) A% (M) | H#EBA%x | A% (F) A% (M) | HEBR%x | A% (A) A% (M) | H#8B%x | A% (F)
A B (A xB) A B (A xB) A B (A xB) A B (A xB)
=/MiE 1,408 17.6 130, 381 =/ME — 17.6 — &=/MiE 1,408 17.6 130, 381 =/MiE 7,408 17.6 130, 381
&KXIE 13, 250 17.6 233, 200 =AE — 17.6 — > PN ] 10, 370 17.6 182,512 =AE 13, 250 17.6 233, 200
FiE 8,703 17.6 153, 167 S5 SE] — 17.6 — EiE 8,254 17.6 145, 263 F{E 8, 651 17.6 152, 252
R B 7,840 17.6 137,984 th i — 17.6 — haE 7, 840 17.6 137,984 th QB 7,624 17.6 134,182
=AEfE — 17.6 — RIR(E — 17.6 — =IR(E — 17.6 — RHIAE — 17.6 —
BAY 9 AR — BAY 5 FAK 6
*HEAHE. BHERE BRARFHHAZ (SMTE10AH) DE1XRIZLD,
3 FEEE
(1) ERAFBEE
[£1K] [ 3 5 ki) [35~5 9] [6 ORELLL]
A% (M) | HEB%x | A% (M) A% (M) | H#8BA%x | A% (A) A%E (M) | HEBR%x | A% (A) A% (M) | H#8B%x | A% (M)
A B (AxB) A B (A xB) A B (A xB) A B (A xB)
=/MiE 13,312 17.6 234, 284 =/ME 9,530 17.6 167,728 &=/MiE 14, 005 17.6 246, 488 =/MiE 9, 961 17.6 175,314
PN ] 20, 000 17.6 352, 000 =mAE 13, 600 17.6 239, 360 =RAE 20, 000 17.6 352, 000 =AE 16, 200 17.6 285,120
TiYiE 16, 406 17.6 288, 131 EH{E 11,379 17.6 200, 262 EHE 16,978 17.6 298, 811 FiE 13, 081 17.6 230, 217
R {E 15,919 17.6 280, 169 o fE 11,192 17.6 196, 979 o fE 16, 654 17.6 293, 102 R R {E 13, 081 17.6 230, 217
=AEE 20, 000 17.6 352, 000 =AEE — 17.6 — =AEME 20, 000 17.6 352, 000 =HEE — 17.6 —_
BAY 10 A 4 BAY 10 FAK 2
*HEAHE. BHERE BRAYFHHAZ (SMTE10A5) DE1XRIZLD,
(2 BEF@E
(£1K] [ 3 5mKi] [35~597%] [6 ORLLL]
A% (M) | HEBA%x | A% (F) A% (M) | H#¥BA%x | A% (M) A% (M) | HEA%x | A% (M) A% (M) | H#¥BA%x | A% (F)
A B (AXB) A B (AxB) A B (AxB) A B (AxB)
&/IMiE 7,408 17.6 130, 381 w=/IME — 17.6 — &/ME 7,408 17.6 130, 381 =/IME 7,408 17.6 130, 381
PN ] 13, 250 17.6 233, 200 =ABE — 17.6 — > PN [ 10, 370 17.6 182,512 =AE 13, 250 17.6 233, 200
TiYiE 8, 828 17.6 1585, 373 TiiE — 17.6 — TiYiE 8,185 17.6 144,049 FH{E 8, 896 17.6 156, 573
R {E 1,840 17.6 137,984 th R {E — 17.6 — hRi{E 1,840 17.6 137,984 R R {E 1,707 17.6 135, 643
4B — 17.6 — R=IE(E — 17.6 — =HE(E — 17.6 — =HEE — 17.6 —
BAR 9 AR — AR 5 PN 6

* HEAHKIE, JBER

BRAFHREANAE (SHMTFE10AD) DEI1RIZKD,




